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Question 3 
 
6 points (4 + 2)  
 

 
 
(a) 4 points: 

• One point is earned for the correctly labeled graph of the foreign exchange market. 
• One point is earned for showing that the supply of Canadian dollars will increase, or the supply 

curve will shift to the right. 
• One point is earned for explaining that Canadian investors will be attracted by the higher real 

interest rate in India and increase their purchase of Indian financial assets. 
• One point is earned for showing that the Canadian dollar depreciates against the Indian rupee. 

 
 

 
 
(b)  2 points: 

• One point is earned for a correctly labeled graph of the loanable funds market. 
• One point is earned for showing a leftward shift of the supply curve and an increase in the interest 

rate.  
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Question 3 
 
Sample: 3A 
Score: 6 
 
The student earned all 6 points for this question. 
 
Sample: 3B 
Score: 4 
 
The student lost 1 point in part (a) because the explanation of why the supply of Canadian dollars increases 
is incorrect. The student lost 1 point in part (b) because the supply of loanable funds is not shown shifting 
to the left. 
 
Sample: 3C 
Score: 2 
 
The student lost 1 point in part (a) because the currency market is not correctly graphed. The student 
earned 2 points in part (a) for showing the supply curve shifting to the right and for correctly concluding 
that the Canadian dollar would depreciate. The student lost the other point in part (a) because the 
explanation is insufficient. The student lost both points in part (b) because the market for loanable funds is 
not correctly graphed and because the supply of loanable funds is not shown shifting to the left. 
 


